Seat No.

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C320903
Subject Name: D C Circuit
Time: 10.30 AM TO 12.00PM
Instructions:

1.

Attempt all questions.

Enrolment No.:

Date: 14-06-2017

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Y8l el (Ascl,
What is electric current
1. | A. | Coulomb/second B. | Coulomb/second?
C. | Coulomb*second D. | Second/ Coulomb
B8AsES cAcdHlal 9 B
.| A | Sdol 7 AseS slcot / Asos?
C. |l * Asos D. | Ases/ Sleint
What is joule per second
2. | A. | Volt B. | Watt
C. | Ampere D. | Ohm
AS0S H(a joule %i R
2. | A |edl Alg
C. e D. | 1a
IMQ=
3. | A | 102 B. | 106
C. | 109 D. | 10"M12
1MQ=
3. A |10 B. | 106
C. |10M9 D. |10"M12
1KQ=
4. | A. | 1079 B. | 10M12
C. |10M6 D. | 1073
1KQ=
¥. [A. | 10M9 B. | 10012
C. |10M6 D. | 1073
1IKWH= —---mmeeeee- calories
5 | A. | 4186 B. |4.186
C. |860 D. | 86000
1KWH= - calories
u. | A | 4186 B. |4.186
C. | 860 D. | 86000
Power =
6. |A. | V*R B. | VR
C. |IlV D. | VIR
G Power =
" |A | V*R B. | VR
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C. |IlV

V?/R

When the length of wire is increased to 4 times and its diameter is doubled, its

resistance

A. | Will become four times B. | Will become doubles
C. | Will not change D. | Will become half
AlAR AGLE 4 cArd B2l ctlR YA WA URL D RUR doll UM , dsll
YA oHel a8
9. .
AT AR dutct oleldl B. | solcul oletd
C. 32512 52 o8l D. | astt oletdl
Which one of the following material does not obey the ohm’s law
8. | A. | Silicon B. | Nickel
C. | Copper D. | Aluminium
UL 6L SRAEL WA 5 otell oAl ol @ As
¢. ['A. TSilicon B. | Nickel
C. | Copper D. | Aluminium
For how many hours a 100W lamp should be used so that 1 unit energy is consumed.
9. |A |1 B. |10
C. | 100 D. | 1000
S2Cl 5Cls M2 As 100w eldl 1 AsH Gl auRiel w8 5 KUl Guallal
¢ | scl A,
A |1 B. |10
C. | 100 D. | 1000
Rate of doing work
10. [ A. | Energy B. | Power
C. | Joule D. | Potential
sl scllall €2
0. |A | Gt ulaR
C. Joule D. '\‘.‘l@'l.(a.d
Value of a0 for copper is
11. [ A. | 0.00427 B. |0.000427
C. |0.0427 D. | 0.427
SIUR M2 o0 ofl (BHd B
1. [ A [0.00427 B. [0.000427
C. |0.0427 D. | 0.427
Electric potential of point is 100 volt. then to bring a charge of 4 coulomb to that point
12 from infinite distance the work require to be done is
" | A. | 25 Watt B. | 0.04 Joule
C. | 400 Watt D. | 400 joule
(g sQles deldd 100 e B . Ul sl ® scuMl sclloll %32 Woid
o, | ¥R A (olg uR 4 getiot As AL claal
A. | 25 Watt B. | 0.04 Joule
C. | 400 Watt D. | 400 joule
Unit of specific resistance is
13. A | QM B. | QM
C. | Q/MM D. | QM/M
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AssA yldsiz AsH B

3. A oM B. [QM
C. | Q/ MM D. | QM/M
How many resistance of 100hm resistance are to be connected in parallel to get
14 equivalent resistance of 2 ohm?
A |2 B. |5
C. |10 D. |20
100ohm YAsR ecll ulask 2 el ofl Auset Ylask [QuR AMidR Asldd
y. | 8& B2
A |2 B. |5
C. |10 D. |20
Resistance of 10€2 and 40Q2 are connected in parallel. If the total current is 5 A the
15 | Ppower loss in 10Q resistance will be ---------- W.
" A |10 B. |25
C. |40 D. | 160
100 Al 400 ofl YlAsR AHIAR HsAc B. ¢ slctoll 5 w & %l 100
Qu. u[afsl{’ Alsa ais2llol ---------- SUEY 83\
A. |10 B. |25
C. |40 D. | 160
Equivalent resistance when two resistance of R ohms are connected in series becomes -
16, | than the two resistance are connected in parallel.
" [ A. | One fourth B. | One half
C. | Twice D. | Four times
AR st A YAstx AHL ASRAA B R uHsel Uldsik A yldsk AHidR
s, | BSAA ® Aell sl ------------- ololl st B.
A. | One fourth B. | One half
C. | Twice D. | Four times
20 ohm and 30 ohm resistor connected in series and in series with it parallel
combination of 20 and 30 ohm resistor is connected. Calculate the equivalent
17. | resistance.
A. |100 B. |60
C. |70 D. |62
QML U 20 ol 30 &L [QAgdyals ofl A UMIAR st A Al
SSIAA 20 B WA 30 el (Agcdycls AslAG 8. AHde ylasR
9 ol
A. |100 B. |60
C. |70 D. |62
Resistance of 10 ohm and 20 ohm connected in series. If power loss in 100hm
18 resistance is 40W then power loss in 20 ohm is --------- W
" |A. |80 B. |20
C. |10 D. |5
10 3l ofl YlAsik ual 20 e ARAHL BSIAA . 100hm YlAslR ML A<l
ac¢. | o18Uet 20 el 1l 40w Ul WAR sl --------- SUER] UAA B %
A. |80 B. |20
C. |10 D. |5
How many resistance of 4ohm are connected in parallel so that the equivalent
19. | resistance becomes 0.8 ohm.

A |5 [B. [4
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C. |6 |D. |3

AU YlAsR 0.8 6L ol ¥ Bl 40hm ol Becll UAsR AHIAR HlslAcl

c. 8.
A |5 B. |4
C. |6 D. |3
Resistance of 10€2 and 20€2 are connected in parallel if power wasted in 10Q resistance
20 is 160W then the power wasted in 20Q=
A | 320 B. |80
C. |40 D. |16
100 ylAsik WA waR Ul 160w 200 Hi WA ABGA B %l 100 A 200 -l
20. | WASR AHIAR ASAA ® =
A. | 320 B. |80
C. |40 D. |16
Resistance of 10€2 and 20€2 are connected in parallel if power wasted in 10Q resistance
21 is 40W then the power wasted in 20Q=
" | A |80 B. |20
C. |10 D. |5
100 YAsR WA WaR 200 i WA Al udl 40w B %l 100 AR 200 ol
oq. | YQASR MR AslAc B =
A. | 80 B. |20
C. |10 D. |5
How many resistance of RQ resistance are to be connected in parallel so that total
29 current taken from the supply becomes four times then that taken by one resistor.
A |16 B. |8
C. |4 D. |2
yrasl Hidll Aol sletoll set AR aud Ul ool ¥ gl ro yldsik uall
oo | U@ASR AHIAR AslA Asla B ¥ ¥cll A As ¥ [Qgdyucls sl AcHl
A. |16 B. |8
C. |4 D. |2
Three resistors 10, 20 and 30Q2 connected in series. If the voltage drop across them is
5,10 and 15 volt then
23 A. | Applied voltage will be 60V and B. | Applied voltage will be 30V and
' current will be 2A. current will be 1A.
C. | Applied voltage will be 30V and D. | Applied voltage will be 30V and
current will be 3A. current will be 0.5A.
ARl AP 10, 20 WA 300 AQMHL ASIAA . AHA AHIYL A% JU
ugdl 5,10 wal 15 <Al B Al
AL QAss AR 60V 8 A B. | Alwcuss dlcdes 30v 63 ual
3.
dcHlet 22 89l ccHleot 1A 8.
C. | Awys A 30v 62 ol D. | Awcys Al 30v 62 ol
cAcHlot 3A 89 ccdHlet 0.5A 89l
Three resistor of 60€2 are connected in delta. In star it is
24. | A. |10 B. |20
C. |30 D. | 180
oy | 600 QL Qg dycue dcal 1l AslAcl B. (R Ml R
A 10 [B. [20
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C. [30 | D. | 180

Three resistor of 30Q2 are connected in star. In delta it is

25. |A. |90 B. |10
C. |15 D. |60
300 20 @Qgdycls RR ML ASLRAA B 3cat vl 8
U [A 90 B. [10
C. |15 D. |60
Which statement is not true
A. | In passive network the energy B. | In active network the passive
26 source is absent elements and energy source are
' present
C. | Inunilateral network the voltage D. | In bilateral network the voltage and
and current both in same direction current both in same direction
% (Atltat ALY otell
AT yal Aeabul Gt Bld B. | uBa azcbul A®a dl wua
RS. AR&L%R & Gl Bl 6l Sl
C.|a Rouni ol Asuell Aeadui | D | o Rauni cixl Buell Aeasui
Al AcHlot Al cAcHlot
Thevenin’s voltage and resistance are 12V and 2Q. When a4 ohm resistance is
97 connected across network the voltage across load is
1A |4 B. |6
C. |8 D. |12
Thevenin Hlcloll AR ol AU 12V A 20 B. a4 sl YlAsR
209, | sl2ad AL ASIAA B AR IR AHIY Al R
A |4 B. |6
C. |8 D. |12
Two voltage source of 6V,1€Q are connected such that they help each other then its
28 Norton equivalent source will be
AL | 12A,2Q B. | 6A,2Q
C. |6A,1Q D. | 12A,0.5Q
6V , 10 A Al BAld Ul dell dléat Amsel Bl A A As ollest 12
a¢. | HeE B A AsAcl ©
A. | 12A 2Q B. | 6A,2Q
C. |6A,1Q D. | 12A,0.5Q
A load resistance of 2 ohm is connected across 3A 4Q norton’s equivalent circuit.the
29 current is
AL B. |05
C. |3 D. |2
2 el As AS UlAsR 32 40 olléel Hiclloll UMS8 circuit.the &lcoll
2¢. | WHIL s B R
A |1 B. |05
C. |3 D. |2
Equivalent current source of 16V, 2Q voltage source is
30. |A. | 16A,2Q B. 16A, 1Q
C. | 8A,2Q D. | 8A,1Q
s0. | 16V ol AHsel slcdtoll Bld, 20 AR B B
" [A. T16A,20 [B. [16A,1Q
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C. [8A,2Q |D. [8A,1Q
Equivalent voltage source of 10A, 5Q current source is
31. | A | 50V,5Q B. | 50V,2Q
C. | 10V,2Q D. |2V,5Q
10a ofl AUss AR A, 50 sl B B
3% [A. [50v,5Q B. [50vV.2Q
C. | 10V,2Q D. |2V,5Q
Condition for maximum transfer of power from the source to the load is
32. | A. | Rs>RL B. |Rs=RL
C. | Rs<RL D. |RL=a
AR H2 BdHiell AbA HedH 2lots? 2 RAQA B
32. [A. [Rs>RL B. [Rs=RL
C. | Rs<RL D. |RL=a
The load connected across the source of 12V, 2Q is adjustable for maximum transfer to
power
33 A. | Load voltage will be 6V and power | B. | Load voltage will be 12V and power
' will be 9W. will bel8W.
C. | Load voltage will be 12V and power | D. | Load voltage will be 6V and power
will be 9W. will be 18W.
12V Bl dR% ASIAA MR , 20 Utll UR HETH 2lodg HIE ASARUA B
AT AS A 6v 62 A Utll 9w | B | Als Al 12v 6 wA Ul
33. &9\, 18W &3\.
ColAs Ay 12ved wA Addl ow | D | cls Ao 6v 63 Aol Uttt 18W
&9, &,
Permeability of vacuum is
34. | A, | 4n1*10"-6 B. |4n*10"-9
C. |4n*10"-7 D. |4n*10"-3
Asyu of| wdal B
3%. [A. [41*10"-6 B. [41*10"-9
C. |4n*10"-7 D. |4n*10"-3
Dielectric constant K is equal to
35. | A. | 1/4neoer B. | 4m*10"-7
C. | 4neoer D. | 1/4neoerd?
Qellatslel Aclcl '§' UHLl B
3. A [ 1/4ngoer B. | 4m*10"-7
C. | 4neoer D. | 1/4neoerd?
When two equal charges are kept at a distance of 100cm force of 20newton produces.
36 if this distance is kept 200cm the force of N
" |A. |60 B. |40
C. |10 D. |5
A AHLet HURAW 100cm WO oll AR AWAHL AU B RUR 20newton
35 | GaUlEal 82 8. AL ¥R 200cm N GOl AW AHT AA dl
A. |60 B. |40
C. |10 D. |5
Force of 10N is produced between two charges when they are kept at a distance of
37 600cm then force of N will be produced when the distance is 200m.
" |A. |60 B. |90
C. | 10/9 D. |30
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AU AR 200m B U ULl
AWML AA B AR 10n ool A W A Vel UL B,

N ol GaUlEol U 600cm ol AR

39.
A. |60 B. |90
C. |10/9 D. |30
Newton/coulomb is the unit of
38. | A. | Electric charge B. | Electric flux
C. | Electric flux density D. | Electric field intensity
ool / S oll ASH B
3¢. ['A. ] Electric charge B. | Electric flux
C. | Electric flux density D. | Electric field intensity
Coulomb/m? is the unit of
39. | A. | Electric charge B. | Electric flux
C. | Electric flux density D. | Electric field intensity
Sl / m2 oll AsH B
3¢. A, [Electric charge B. | Electric flux
C. | Electric flux density D. | Electric field intensity
Joules per second is
40. | A. | Volt B. | Watt
C. | Ampere D. | Potential gradient
AS0S H(a joules &
80. [A TVolt B. [Watt
C. | Ampere D. | Potential gradient
Potential of a point at distance of 200mm from a charge is 20v. If the distance is
41 charged to 100mm the potential will become V.
" |A. |10 B. |80
C. |5 D. |40
U Hil 200mm ol AR As (Bl ol AelAd 20v & . 3R 100mm HER
wq. | U B A deldd v olold.
A. |10 B. |80
C. |5 D. |40
Farad is equal to
42. | A. | Volt/coulomb B. | Coulomb/volt
C. | Volt*coulomb D. | Volt/coulomb?
(Agct Alseloll AsH AMLat B
82. A, ] Volt/coulomb B. | Coulomb/volt
C. | Volt*coulomb D. | Volt/coulomb?
1pF=
43. | A. | 10n-3 B. | 10"-9
C. |10n-12 D. | 10"-6
1pF=
¥3. | A. | 10"-3 B. | 10"-9
C. |10n-12 D. | 10"-6
In a parallel plate capacitor if area of plate is doubled and a distance between plate is
44. | A. | There is no change in capacitance B. | Capacitance will be doubled
C. | Capacitance will becomes half D. | Capacitance becomes four times
A5 UHIAR WA 3URER Hl WA’ ([Qrcllk otHRl Ul B A WA R R B
¥¥. | %l
A B.

xRl 518 ¥812 B

LlostuRctl ol uss %
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C.

ALAA AUl ¢l clslRcll

D.

Aoarlt3cl AR A olal

Capacitance of parallel plate capacitor is C farad.

If the no of plates is made 5 then

45 total capacitance will becomes
" | A. | Stimes B. | One fifth
C. | 4times D. | One forth
AR A2 3URERR ol lulRcl ¢ [Qgd alsaloll AsH & . 1AL ol 818 5
wy_ | olettaatdl 2 8 , ugl sct dlrulRetl 82091 ool
A. | Stimes B. | One fifth
C. | 4times D. | One forth
Two capacitor each of 20pF connected in series in its series a parallel combination of 5
46 MF capacitor connected than total capacitance is
A | 425 B. |30
C. |10 D. |5
A 30RR2 20pF €35 5 XUR Al 5l AsAA 5 pr 3URR As
¥ | AHAR At B Aol Al Al lsiact
A. | 425 B. |30
C. |10 D. |5
Energy stored in capacitor by given formula
47. | A. | 12CV B. | 1/2CV2
C. | Q/2c? D. | Q/2C
Aot AUUML YA 4Rl SURRR AUoleldd
89. A, [1/2CV B. [1/2CV?
C. | Q/2c? D. | Q/2C
Two capacitor each of 50uF connected in series and 200V applied then energy stored
48 in each capacitor is
" 1A |05 B. |0.25
C. |1 D. |2
A 3R s0pF €25 ARML ASIAA B A 200V €3S
ve. | BURERR AR Bl B udl cloy
A. |05 B. |0.25
C. |1 D. |2
Fleming’s left hand is used to find direction of
49. | A. | Statically induced emf B. | Dynamically induced emf
C. | Both statically and dynamically D. | Force
sQoLell stoll slaMl otl (o ucl HIZ duRAA 8
¥e. | A | RAR AR enf B. 1ol A ARA ems
C. | ol @R wa sl D. | ql
Magnitude of dynamically induced emf is given by
50. | A. | Blvsine B. | Blvcose
C. | Ndi/dt D. | BlLsine
a2l AA WURA ems ol dlaclloll gll UM 4 B
“O. ['A. [Blvsine B. [ Blvcose
C. | Ndi/dt D. | BlLsine
Value of self induced emf is
A. | Inversely proportional to number of | B. | Inversely proportional to square of
51. turns number of turns
C. | Directly proportional to number of | D. | Directly proportional to square of

turns

number of turns
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7 URd emf ofl (BHA B

Al aRl vl colell clzd yHaL | B | cuat dvausl AR cdlell e
ua. YH(eL
Co |t dvauntl Al Yl D. | cuat dvaunl A Al
YHLRIHL
Area of hysteresis loop
52. | A. | Shows only hysteresis loss B. | Shows only eddy current loss
C. | Shows both eddy and hysteresis loss | D. | Is less when hysteresis loss is more
Hysteresis U (QctlR
A. | gscl hysteresis of$2llel B. | g5l sletoll ofslel olcld
2. wcld
Co o aua ua hysteresis D. | gysteresis ojs2llet Ay &
ai52llel tclld COERMIS
Which is true
53. | A. | p=Vpopr B. | p=pour
C. | p=pour/2 D. | u=potur/2
% AUY O
43. A u=Vpopr B. | p=pour
C. | p=popur/2 D. | u=potur/2
Self induction coil
54. | A. | NOYI B. | NI®
C. | NO/I D. | N2®/I
2 oS50l Sl
e [A. [NoI B. [N/
C. | NO/I D. | N2®/I
Flux of 2mWhb is produced when the current of 4A flows through a coil having 600
55 turns the inductance of the coil is
" | A. | 0.03H B. | 0.3H
C. |3H D. |3mH
2mib ol Ycllg 4A oll dclMlol 600 sl As SBA UAR Al & AR UEL
Wy, | AU B SlI8A ol 8ossearle] & At
A. | 0.03H B. | 0.3H
C. |3H D. |3mH
Current through the coil changes from 10A to 50A in 0.1 sec and 60V are induced
56 what will the inductance of the coil
1A |04 B. 0.6
C. |15 D. |0.15
0.1 ASeS Wl 60V Hi 50a M2 10A oll S8 3% 6l sletall g slsct
W | oll Bess2ata] A VR REl
A. |04 B. 0.6
C. |15 D. |0.15
When 4A current flows through a coil flux linkage of 2Whb turns produced in other
57 coil. Mutual inductance between two coils are
" |A. |05 B. |2
C. |8 D. |02
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4a HIZ ddHlet 2mb WS SIBA Yclle Aslelal ad IR ol s18c Hi Geuledt
A0l 1RJRJUA BoS52ola] AR A SlEA O

v.
A. |05 B. |2
C. |8 D. 0.2
Mutual inductance between two coils is 0.6H. The value of self inductance is 0.8 and
58 0.5. then the coupling coefficient will be
" | A, 055 B. |03
C. 10.95 D. |08
A SIBA AR URUR BoS52cta] 0.6H 8 .l Bo5520a] ofl (U 0.8 wal
We. | 0.5 B . ugl et oJ0ls 6
A. | 0.55 B. /0.3
C. 10.95 D. |08
Cork screw rule is used to find the direction of
59 A. | Force acting on current carrying B. | Statically induced emf
' conductor
C. | Magnetic field D. | Dynamically induced emf
s18 5 [Aan (Bau ual HE duAAA B
ue. | A | Sl sletoll aset ctes uR st | B | @2 ARA emt
C. | judla A D. Taellet Al ARA emt
Direction of dynamically induced emf can be found by using
60. | A. | Right hand rule B. | Corkscrew rule
C. | Fleming’s left hand rule D. | Fleming’s right hand rule
sl AA VR ems oll (B2 GuloL s3lat Nl asia &
50. | A | e sl Ran B. | 815 25 [Qan
C. | s@Q@otoll stoll slami Ran D. | sl ormil sl Rant
Self inductance of a coil is given by
61. | A. [ pourA2N/I B. | pourAN?/1
C. | pourA2N?/1 D. | pourAN#1?
A5 S8 oll ACE Bo5520a] GLRA WUCUHL AU B
ST A, | pourAN/ B. | pourAN?/1
C. | pourA2N?/1 D. | pourAN?1?
Inductance of a coil having 100 turns is 500mH. To produced 2mWhb flux the current
62 required to be passed is A.
A |4 B. 104
C. [0.04 D. |40
100 Rl 52Ul As 58A ofl BoS52ote] 500mH & . GeUlEol 53 2mwb UAUR
co |53 33 aduiat A ® Yl .
A |4 B. |04
C. [0.04 D. |40
Inductance of a coil having 50 turns is 250mH. To produced 2mWb flux the current
63 required to be passed is A.
A |2 B. |02
C. [0.02 D. |20
50 al sl As S18A oll BoSs2oro] 250mH B . GAUlE 53 2mwb UUIR 53
53. | %33l adulet A B Yals .
|2 |B. |02
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1 0.02 |D. |20

What is unit of resistance

64. | A. | Ohm B. | Mho
C. | Ampere D. | Volt
yldsik Asu g B

S¥. [A. [Ohm B. | Mho
C. | Ampere D. | Volt
What is unit of conductance

65. | A. | Mho B. | Ohm
C. | Coulomb D. | volt
Alldcl AsH 9 B

SU. [A. [Mho B. [ Ohm
C. | Coulomb D. | volt
What is unit of current

66. | A. | Ohm B. | Mho
C. | Ampere D. | Volt
Aot AsH 9 B

5S. [A. [Ohm B. [ Mho
C. | Ampere D. | Volt
What is unit of potential difference

67. | A. | Ohm B. | Mho
C. | Ampere D. | Volt
AoAd dslad AsH 9 B

sJ. [A. [ Ohm B. | Mho
C. | Ampere D. | Volt
What is unit of inductance

68. | A. | Henry B. | Mho
C. | Ampere D. | Volt
BoS5eorla] WsH 9 O

SC. [ A [Henry B. [Mho
C. | Ampere D. | Volt
What is unit of capacitance

69. | A. | Henry B. | Mho
C. | Farad D. | Volt
lostRetl AsH 9 B

SC. [ A [Henry B. [Mho
C. | Farad D. | Volt
Ra

70. |A. |PI/A B. | PI*A
C. | PI?A D. | PI/A?
Ra

90. |A. | PI/A B. | PI*A
C PIZ/A D. | PI/A?

*hkkkkhkkkhkhkhkkikhkikkikk
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